Datenbanken 1 — Ubung09 — Georg Kuschk — MI-10

la) p ename, job,sal (S sal <=15000( job='"CLERK 'Ujob="'SALESMAN) (emp))
= p ename, job,sal (S sal <=1500 (S job="CLERK' (ernp) E S job:'SALESMAN‘(emp)))

in ReAl :
PRO[ename,job,sal] (SEL[(job="SALESMAN’ OR job="CLERK’) AND (sal<=1500)](emp));

1b) P ename,hi redate(s (hiredate>=198201010 hiredate<=19821231) (emp) )

= p ename,hiredate(S hiredate<=1982123l(S hi redate>=19820101(emp) »

in ReAl :
PRO[ename,hiredate] (SEL [hiredate>=19820101 AND hiredate<=19821231] (emp));

m p emp.ename,emp.deptngdept.dname (S emp.deptno=dept.deptno (

(p emp.ename- ename, emp.deptno- deptno (emp) p dept.dname- dname, dept.deptno- deptno(dept) ) ))

in ReAl :
PRO[ ename,dname,deptno] (emp NATJOIN dept);

m p ename,empno, job (S job! 'CLERK" (emp))

in ReAl :
PRO[ ename,empno,job] (SEL [job<>’ CLERK’](emp));



(komponist)

p name,vor name geboren

p name gesamtspi ézeit (S anz_ cds=2 (Cd ))

p titel (S (tonart'C- Dur ') U (tonart="D- Dur ") (StueCk))
= p titel (S tonart="C- Dur' (StueCk) E S tonart="D-Dur ' (StueCk))

p nameinstrum(—:‘nt(S (instrument="Sopran’) U (instrument=Tenor") (3)“3 ))

(soligt)E's

instrument="Tenor'

(solist))

= p nameinstrument(s instrument='Sopran

p stuecktitel , stueck.snr,komponist name (

S

stueck.snr=aufnahmesnr (

(komponist)” s

stueck.snr=komponistsnr (p komponist snr= snr , komponist name- name

(p stueck.snr= snr , stuecktitel - titel (StueCk) ’ p aufnahmesnr- snr (S leitung* 'ClaudioAbbado’ (annahm@)) )))

p cd.cdnr,cd.name(S solist cdnr=cd.cdnr U solist instrument"'Oboe' (p solist cdnr= cdnr, solist. instrument- instrument(g)I Iﬁ)
p cd.cdnr- cdnr, cd.name- name(Cd )))

s

= p cd.cdnr,cd.n.a\me(S solist cdnr =cd.cdnr (S solist instrument='Oboe (D solist cdnr= cdnr , solist. instrument- instrument(wllg)
p cd.cdnr= cdnr, cd.name- name(Cd) )))



